a2 B 974 SCHMALZ
-

KGL
T— o OIEREDORAEIELEIRY Y 34>k

%’,;—:_ B s/ (v FOBIRYER) & FTHEICT BRIV 31> b BRSO FOfEE
> =4 T DIEREICEDEET,

1 |
— IBBER s
'”7 . B2\ ROBREEESHS S BRI Ie T — o DEEICERL.
MR P HE
; ( \ v . I\T’i%h’&ﬁﬁ(“‘/-') GO > [ERMEH B ERRIEE S
@ ! A—=bEV Iy b
i s ERBEOBIRYIIAVH > KEGEIRVAE
R—ibP a1k KGL
Q| 175
247 BE ®qGa—F
EEA BT HZe/ vy PSS HE
KGL-G1/8-1G-G1/8-AG-A2 FiTGUB AR TGI8 A% AFLA 10.01.03.00109
KGL-G1/4-1G-G1/4-AG FIT G AR AT GUA A2 mEA YT 10.01.03.00110
KGL-G1/4-1G-M10x1.25-AG 1T G114 AR M10x1.25 23/ Eh A i 10.01.03.00137
KGL-G1/2-1G-G1/2-AG AT G112 AR TGN ARy itk P ST il 10.01.03.00111

@ FH=HILF—% KGL

217 BB (RX) BEEHRORE (RX) HE
[°] [N] | [9]
KGL-G1/8-1G-G1/8-AG-A2 15 300 26
KGL-G1/4-1G-G1/4-AG 15 1500 67
KGL-G1/4-1G-M10x1.25-AG 15 1500 67
KGL-G1/2-1G-G1/2-AG 15 2500 116

@ THA T —4% KGL

W
=]
SW1 Gl,
9
T
W::—a
L 1
o™
8
dn
G2
KGL ERVUTHIELHSEBEOELERY Y377 FK6L
g217 i [mm)
dn | G1 G2 H LG1 LG2 sw1 W]
KGL-G1/8-1G-G1/8-AG-A2 2.0 G1/8-F G1/8-M 26.5 8.5 7 14 15
KGL-G1/4-1G-G1/4-AG 35 G1/4-F G1/4-M 375 120 10 19 15
KGL-G1/4-1G-M10x1.25-AG 3.5 G1/4-F M10x1.25-M 37.5 12.0 10 19 15
KGL-G1/2-1G-G1/2-AG 4.0 G1/2-F G1/2-M 40.0 14.0 12 24 15

¥ www.schmalz.co.jp

HENYFE
R



